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1. Let G=(V, E) is a conneted graph with | E | =17 and deg(v)=3 for all v in
V, what is the maximum value for | V | (10%)
2. Given an infix form: (((A+B)*C+D)*E)-((A+B)*C+D). (15%)
(a) Find a binary tree to the expression.
(b) Find its prefix form and postfix form.
3.(Lagrange EH) FHH (G*) B—HMRE, HH* SH—T8, §
| H | 2R | G | 20%)
4. S\HF abed C BEEV IR 4P2 H1 4C2 TR (20%)
5. Show that if (ab)’=a’b’ fora and b in a group G, then ab=ba. (10%)
6. (a) What is the last digit in 3>° 2 (7%)
(b) What is the last digit in 97 2 (8%)
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